
ASSEMBLY INSTRUCTION

INbbb058_UK_DE_ES_FR_IT

84B-470

READ AND SAVE THIS INSTRUCTION FOR FUTURE USE













M4

PART
LIST

E 1D 1

C 2B 2

⑤ 1

④ 4③ 8② 6

① 16

A 8

H 4G 1

F 1

M4*30

M4*40 M6*50

M8*95



M4 x30mm - 16Pieces1 M4x40mm - 2Pieces2

M6x50mm - 8Pieces3

1 1
A

B C

B

A

C

M4x40mm - 2Pieces2 M4x40mm - 2Pieces2

F

2

F

2

D

3

M8x95mm - 4Pieces4

4

4

D

H

2

01

05 06

02

03 04




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9

